
変 域－３ 
 
 

☆「関数 

x
y 6
  で、χの変域が －3 ≦χ＜－１ のときのｙの変域を求めなさい。」 

 
 
 
 
 
 
                                   答             
 

☆「関数 

x
y 6

  で、χの変域が  

7
6

8
3

＜≦ x  のときのｙの変域を求めなさい。」 

 
 
 
 
 
 
 
 
 
 
 
                                   答             

 

１，関数 

x
y 12
  で、χの変域が 

7
6

5
2

 ＜≦ x  のときのｙの変域を求めなさい。 

 
 
 
 
 
 
 
                                     答            

２，関数 

x
y 12

  で、χの変域が 

7
4

5
3

＜≦ x  のときのｙの変域を求めなさい。 

 
 
 
 
 
 
 
                                     答            

12

16 


